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QUESTION 1

Which of the following statements are true? SELECT ALL THAT APPLY 

A. The application of service-orientation leads to reduced awareness of underlying service implementation details
because the Service Abstraction principle advocates limiting what is published about services. 

B. The application of service-orientation leads to increased consistency in how functionality is expressed in the service
contract because the Service Reusability principle advocates deferring service contract information at runtime. 

C. The application of service-orientation leads to increased behavioral predictability and increased availability and
scalability as a result of applying the Service Autonomy and Service Statelessness design principles. 

D. The application of service-orientation leads to increased awareness of available services because the Service
Discoverability design principle advocates improving the communications quality of published service information. 

Correct Answer: ACD 

 

QUESTION 2

The service-oriented architectural model is ideally designed to be neutral to vendor platforms so that organizations have
the freedom to diversify by leveraging multiple vendor technology innovations over time, as required. Select the correct
answer. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 3

Which of the following are considered negative forms of coupling: SELECT ALL THAT APPLY 

A. Logic-to-Contract 

B. Contract-to-Logic 

C. Contract-to-Technology 

D. Contract-to-Implementation 

Correct Answer: BCD 

 

QUESTION 4

When applying the Service Loose Coupling design principle, we want to __________________ the coupling of the
service logic to the service contract because that allows the service contract to remain __________________ from the
service logic. Select the correct answer. 
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A. increase, decoupled 

B. reduce, decoupled 

C. increase, coupled 

D. reduce, coupled 

Correct Answer: A 

 

QUESTION 5

Which of the following service-orientation principles support the application of the Service Composability principle?
SELECT ALL THAT APPLY 

A. Standardized Service Contract 

B. Service Autonomy 

C. Service Integration 

D. Service Statelessness 

Correct Answer: ABD 
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